Title

page 2/2
 

 

Operations Review June 2

1. Continuous vs. periodic inventory system


Continuous
Periodic


(s,Q)
(R,S)

Managerial
Basically yields lower inventory, but needs appropriate systems


How much?
Q (FTL = full truck load, EOQ)

( quantity fixed
Up to S

( quantity variable

When
s (= reorder point)

( timing flexible
Every R (= time period)

( timing fix (is usually given, but there are cases where you choose R, e.g. in relation to setup times)

s / S
P1 (Cycle service level = stock out or not? = Probability of not stocking out in one cycle)

a) Pu((k) = 1 - P1
b) find k from the table

c) s = 
[image: image1.wmf]$

x

L + kL
P2 (Fill Rate Target = % of unit-demand met from the shelf)

a) Gu(k) = Q/L * (1 - P2)

b) Find k from table

c) s = 
[image: image2.wmf]$

x

L + kL 

There’s no direct relationship between P1 and P2
P1


a) Pu(k) = 1 - P1
b) Find k from table

c) S = 
[image: image3.wmf]$

x

R+L + kR+L
P2

a) Gu(k) = 
[image: image4.wmf]$

x

R / L+R ( 1 - P2)

b) find k from table

c) S = 
[image: image5.wmf]$

x

R+L + kR+L


Definitions
Cycle stock = Q/2

Safety stock = kL

Pipeline stock = 
[image: image6.wmf]$

x

L

Cycle = Time between two reception points = time between two order points
Cycle stock = 
[image: image7.wmf]$

x

R / 2

Saftey stock = ksR+L
Pipeline stock = 
[image: image8.wmf]$

x

L

do.

Notations
L =  * SQRT(L)

x^L = 
[image: image9.wmf]$

x

 (L)
x^R+L = 
[image: image10.wmf]$

x

 (R+L)

x^R = 
[image: image11.wmf]$

x

 (R)

R+L =  * SQRT(R+L)

Concept check #7 is not representative for the exam in terms of complexity. CC#6 and the newsvendor problems as well as the problems discussed in class are more representative for the exam-problems.
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